

San Antonio Water System

San Antonio Water System

Solicitation Vendor Price List

Prepared By : Janie M. Powell

Solicitation No : CO-00333

Job #: 19-4533

Contract No :

SAN ANTONIO WATER SYSTEM

PO Box:2994

San Antonio, Texas, 78298-2449

TABULATION OF BIDS

Proposal: 2019 CMOM Package 2 (Urgent)

Time And Date: July 29, 2020 @ 2:00 PM

Price List

| | | | | | | | 1_PM (& REHA | CONSTRUCTION AB LP | CO-00333 | ONSTRUCTION C | CO-00333 - | 3_VOR | CO-00333 - 4_ CONSTRUC | | | |
|------------|---------|----------------------------------|-------------|--|------|-------------|------------------|-----------------------|-------------|------------------|--------------|-------------|---------------------------|--------------|------------|-------|
| Line No | Item No | Quote Category | SOV Item | Item Description | Unit | Unit Price | Qty | Total Amount | Unit Price | Qty | Total Amount | Unit Price | Qty | Total Amount | Unit Price | Qty |
| | 1 103.1 | General Sanitary Sewer Bid Items | | Remove Concrete Curb (COSA Spec) | LF | \$61.11 | 32 | \$1,955.52 | \$7.00 | 32 | \$224.00 | \$10.00 | 32 | \$320.00 | \$15.00 | 32 |
| : | 2 103.3 | General Sanitary Sewer Bid Items | | Remove Concrete Sidewalks and Driveways (COSA Spec) | SF | \$27.78 | 65 | \$1,805.70 | \$7.00 | 65 | \$455.00 | \$10.00 | 65 | \$650.00 | \$20.00 | 65 |
| ; | 3 203.1 | General Sanitary Sewer Bid Items | | Tack Coat | GAL | \$12.71 | 40 | \$508.40 | \$25.00 | 40 | \$1,000.00 | \$15.00 | 40 | \$600.00 | \$15.00 | 40 |
| 4 | 4 205.2 | General Sanitary Sewer Bid Items | | Hot Mix Asphaltic Pavement, Type B (10" Compacted Depth) | SY | \$86.91 | 328 | \$28,506.48 | \$130.00 | 328 | \$42,640.00 | \$110.00 | 328 | \$36,080.00 | \$85.00 | 328 |
| : | 5 205.3 | General Sanitary Sewer Bid Items | | Hot Mix Asphaltic Concrete Pavement, Type C (3" Compacted Depth) | SY | \$29.51 | 1,323 | \$39,041.73 | \$89.00 | 1,323 | \$117,747.00 | \$65.00 | 1,323 | \$85,995.00 | \$40.00 | 1,323 |
| | 6 208.1 | General Sanitary Sewer Bid Items | | Salvaging, Hauling, and Stockpiling Reclaimable Asphaltic Pavement (3" SY Depth) | | \$8.83 | 1,094 | \$9,660.02 | \$30.00 | 1,094 | \$32,820.00 | \$15.00 | 1,094 | \$16,410.00 | \$17.00 | 1,094 |
| | 7 413.1 | General Sanitary Sewer Bid Items | | Flowable Fill (COSA Spec) | CY | \$186.00 | 16 | \$2,976.00 | \$155.00 | 16 | \$2,480.00 | \$250.00 | 16 | \$4,000.00 | \$150.00 | 16 |
| | 3 500.1 | General Sanitary Sewer Bid Items | | Concrete Curb (COSA Spec) | LF | \$72.22 | 32 | \$2,311.04 | \$25.00 | 32 | \$800.00 | \$40.00 | 32 | \$1,280.00 | \$60.00 | 32 |
| , | 502.1 | General Sanitary Sewer Bid Items | | Concrete Sidewalks (COSA Spec) | SY | \$94.44 | 17 | \$1,605.48 | \$85.00 | 17 | \$1,445.00 | \$95.00 | 17 | \$1,615.00 | \$100.00 | 17 |
| 10 | 530.1 | General Sanitary Sewer Bid Items | | Barricades, Signs, and Traffic Handling (Broadway St) | EA | \$2,488.89 | 1 | \$2,488.89 | \$18,000.00 | 1 | \$18,000.00 | \$17,000.00 | 1 | \$17,000.00 | \$2,000.00 | 1 |
| 1 | 1 530.1 | General Sanitary Sewer Bid Items | | Barricades, Signs, and Traffic Handling (S Gevers) | EA | \$3,038.89 | 1 | \$3,038.89 | \$20,000.00 | 1 | \$20,000.00 | \$17,000.00 | 1 | \$17,000.00 | \$1,750.00 | 1 |
| 12 | 2 530.1 | General Sanitary Sewer Bid Items | | Barricades, Signs, and Traffic Handling (Alicia) | EA | \$1,044.44 | 1 | \$1,044.44 | \$13,500.00 | 1 | \$13,500.00 | \$5,500.00 | 1 | \$5,500.00 | \$1,500.00 | 1 |
| 1: | 3 530.1 | General Sanitary Sewer Bid Items | | Barricades, Signs, and Traffic Handling (Bretton Ridge) | EA | \$1,044.44 | 1 | \$1,044.44 | \$12,000.00 | 1 | \$12,000.00 | \$3,500.00 | 1 | \$3,500.00 | \$1,000.00 | 1 |
| 14 | 4 530.1 | General Sanitary Sewer Bid Items | | Barricades, Signs, and Traffic Handling (Nogalitos) | EA | \$24,777.78 | 1 | \$24,777.78 | \$30,000.00 | 1 | \$30,000.00 | \$25,000.00 | 1 | \$25,000.00 | \$3,000.00 | 1 |
| 1: | 5 530.1 | General Sanitary Sewer Bid Items | | Barricades, Signs, and Traffic Handling (Shasta) | EA | \$600.00 | 1 | \$600.00 | \$13,500.00 | 1 | \$13,500.00 | \$1,500.00 | 1 | \$1,500.00 | \$2,000.00 | 1 |
| 16 | 535.1 | General Sanitary Sewer Bid Items | | Hot Applied Thermoplastic Pavement Markings, 4-inch Wide Yellow Line | LF | \$1.89 | 212 | \$400.68 | \$3.65 | 212 | \$773.80 | \$8.00 | 212 | \$1,696.00 | \$10.00 | 212 |
| 1 | 7 535.2 | General Sanitary Sewer Bid Items | | Hot Applied Thermoplastic Pavement Markings, 4-inch Wide White Line | LF | \$2.28 | 12 | \$27.36 | \$3.65 | 12 | \$43.80 | \$8.00 | 12 | \$96.00 | \$15.00 | 12 |
| 18 | 3 535.7 | General Sanitary Sewer Bid Items | | Hot Applied Thermoplastic Pavement Markings, 24-inch Wide White Line | LF | \$7.22 | 68 | \$490.96 | \$12.00 | 68 | \$816.00 | \$35.00 | 68 | \$2,380.00 | \$25.00 | 68 |
| 19 | 550 | General Sanitary Sewer Bid Items | | Trench Excavation Safety Protection | LF | \$0.60 | 793 | \$475.80 | \$3.00 | 793 | \$2,379.00 | \$2.00 | 793 | \$1,586.00 | \$15.00 | 793 |
| 20 | 848 | General Sanitary Sewer Bid Items | | 8" PVC Gravity Sanitary Sewer Pipe (SDR 26-2241, 160 psi) (All Depths) | LF | \$212.00 | 774 | \$164,088.00 | \$300.00 | 774 | \$232,200.00 | \$146.00 | 774 | \$113,004.00 | \$75.00 | 774 |
| 2 | 1 848 | General Sanitary Sewer Bid Items | | 10" PVC Gravity Sanitary Sewer Pipe (SDR 26-2241, 160 psi) (All Depths) | LF | \$400.00 | 10 | \$4,000.00 | \$350.00 | 10 | \$3,500.00 | \$450.00 | 10 | \$4,500.00 | \$355.00 | 10 |
| 2 | 2 851 | General Sanitary Sewer Bid Items | | Adjust Existing Manholes (with new ring & cover) | EA | \$1,700.00 | 2 | \$3,400.00 | \$2,600.00 | 2 | \$5,200.00 | \$2,000.00 | 2 | \$4,000.00 | \$3,000.00 | 2 |

| | | | CO-00333 - 1_PM CONSTRU & REHAB LP | | | CO-00333 - | ONSTRUCTION ; | CO-00333 - | CO-00333 - 4_ CONSTRUC | | | | | | | |
|------------|--------------|----------------------------------|---------------------------------------|--|-------|-------------|---------------|--------------|---------------------------|-------|----------------|-------------|-------|--------------|-------------|-------|
| Line No | Item No | Quote Category | SOV | Item Description | Unit | Unit Price | Qty | Total Amount | Unit Price | Qty | Total Amount | Unit Price | Qty | Total Amount | Unit Price | Qty |
| | 852 | General Sanitary Sewer Bid Items | | Sanitary Sewer Drop Manhole (0'-6') | EA | \$7,500.00 | 1 | \$7,500.00 | \$7,700.00 | 1 | \$7,700.00 | \$9,000.00 | 1 | \$9,000.00 | \$9,500.00 | 1 |
| 24 | 852 | General Sanitary Sewer Bid Items | | Sanitary Sewer Manhole (0'-6') | EA | \$6,500.00 | 4 | \$26,000.00 | \$6,725.00 | 4 | \$26,900.00 | \$7,500.00 | 4 | \$30,000.00 | \$6,500.00 | 4 |
| 25 | 852 | General Sanitary Sewer Bid Items | | Extra Depth Manholes | VF | \$890.00 | 6 | \$5,340.00 | \$850.00 | 6 | \$5,100.00 | \$600.00 | 6 | \$3,600.00 | \$700.00 | 6 |
| 26 | 854 | General Sanitary Sewer Bid Items | | Sanitary Sewer Laterals, (SDR 26, ASTM 2241, 160 psi) | LF | \$120.00 | 138 | \$16,560.00 | \$79.00 | 138 | \$10,902.00 | \$55.00 | 138 | \$7,590.00 | \$95.00 | 138 |
| 27 | 854 | General Sanitary Sewer Bid Items | | Two Way Sanitary Cleanout | EA | \$635.00 | 6 | \$3,810.00 | \$690.00 | 6 | \$4,140.00 | \$800.00 | 6 | \$4,800.00 | \$1,535.00 | 6 |
| 28 | 858 | General Sanitary Sewer Bid Items | | Concrete Encasement, Cradles, Saddles and Collars | CY | \$400.00 | 9 | \$3,600.00 | \$286.00 | 9 | \$2,574.00 | \$1,250.00 | 9 | \$11,250.00 | \$350.00 | 9 |
| 29 | 864-S1 | General Sanitary Sewer Bid Items | | Bypass Pumping (Small Diameter Sanitary Sewers) (Broadway) | LS | \$10,000.00 | 1 | \$10,000.00 | \$20,000.00 | 1 | \$20,000.00 | \$10,000.00 | 1 | \$10,000.00 | \$13,500.00 | 1 |
| 30 | 864-S1 | General Sanitary Sewer Bid Items | | Bypass Pumping (Small Diameter Sanitary Sewers) (S Gevers) | LS | \$12,000.00 | 1 | \$12,000.00 | \$20,000.00 | 1 | \$20,000.00 | \$10,000.00 | 1 | \$10,000.00 | \$12,500.00 | 1 |
| 31 | 864-S1 | General Sanitary Sewer Bid Items | | Bypass Pumping (Small Diameter Sanitary Sewers) (Alicia) | LS | \$16,000.00 | 1 | \$16,000.00 | \$18,000.00 | 1 | \$18,000.00 | \$7,000.00 | 1 | \$7,000.00 | \$11,500.00 | 1 |
| 32 | 864-S1 | General Sanitary Sewer Bid Items | | Bypass Pumping (Small Diameter Sanitary Sewers) (Bretton Ridge) | LS | \$2,000.00 | 1 | \$2,000.00 | \$18,000.00 | 1 | \$18,000.00 | \$1,000.00 | 1 | \$1,000.00 | \$11,500.00 | 1 |
| 33 | 864-S1 | General Sanitary Sewer Bid Items | | Bypass Pumping (Small Diameter Sanitary Sewers) (Nogalitos) | LS | \$10,000.00 | 1 | \$10,000.00 | \$32,000.00 | 1 | \$32,000.00 | \$7,500.00 | 1 | \$7,500.00 | \$23,000.00 | 1 |
| 34 | 864-S1 | General Sanitary Sewer Bid Items | | Bypass Pumping (Small Diameter Sanitary Sewers) (Shasta) | LS | \$2,000.00 | 1 | \$2,000.00 | \$18,000.00 | 1 | \$18,000.00 | \$1,000.00 | 1 | \$1,000.00 | \$10,500.00 | 1 |
| 35 | 866 | General Sanitary Sewer Bid Items | | Pre Sewer Main TV Inspection (6" - 15" Dia) | LF | \$4.39 | 1,977 | \$8,679.03 | \$11.00 | 1,977 | \$21,747.00 | \$4.25 | 1,977 | \$8,402.25 | \$6.50 | 1,977 |
| 36 | 866 | General Sanitary Sewer Bid Items | | Post Sewer Main TV Inspection(6" - 15" Dia) | LF | \$5.50 | 784 | \$4,312.00 | \$8.50 | 784 | \$6,664.00 | \$3.25 | 784 | \$2,548.00 | \$5.00 | 784 |
| 37 | 900 | General Sanitary Sewer Bid Items | | Pipe Bursting 8" Sanitary Sewer Pipe, 0'-10' depth | LF | \$75.00 | 410 | \$30,750.00 | \$75.00 | 410 | \$30,750.00 | \$62.00 | 410 | \$25,420.00 | \$85.00 | 410 |
| 38 | 900 | General Sanitary Sewer Bid Items | | Pipe Bursting 8" Sanitary Sewer Pipe, 0'-10' depth (DR 13.5 160 PSI) | LF | \$100.00 | 202 | \$20,200.00 | \$89.00 | 202 | \$17,978.00 | \$64.00 | 202 | \$12,928.00 | \$85.00 | 202 |
| 39 | 900 | General Sanitary Sewer Bid Items | | Pipe Bursting 10" Sanitary Sewer Pipe, 0'-10' depth (DR 13.5 160 PSI) | LF | \$100.00 | 581 | \$58,100.00 | \$96.00 | 581 | \$55,776.00 | \$78.00 | 581 | \$45,318.00 | \$95.00 | 581 |
| 40 | SS 910 | General Sanitary Sewer Bid Items | | Manhole Rehabilitation | VF | \$450.00 | 36 | \$16,200.00 | \$365.00 | 36 | \$13,140.00 | \$385.00 | 36 | \$13,860.00 | \$650.00 | 36 |
| 41 | 1103.1 | General Sanitary Sewer Bid Items | | Point repairs for 6" thru 10" Diameter, (0'-10') | EA | \$4,000.00 | 1 | \$4,000.00 | \$4,860.00 | 1 | \$4,860.00 | \$2,500.00 | 1 | \$2,500.00 | \$6,000.00 | 1 |
| 42 | 1103.2 | General Sanitary Sewer Bid Items | | Extra Length Point Repair, All Diameter, All Depths | LF | \$160.00 | 5 | \$800.00 | \$145.00 | 5 | \$725.00 | \$100.00 | 5 | \$500.00 | \$260.00 | 5 |
| 43 | 1103.3 | General Sanitary Sewer Bid Items | | Obstruction Removal by Remote Device | EA | \$4,500.00 | 1 | \$4,500.00 | \$2,500.00 | 1 | \$2,500.00 | \$500.00 | 1 | \$500.00 | \$650.00 | 1 |
| 44 | 1109 | General Sanitary Sewer Bid Items | | Service Reconnection, (w/ open cut excavation, 0'-10' depth, including up to 10 LF of lateral) | EA | \$330.00 | 13 | \$4,290.00 | \$825.00 | 13 | \$10,725.00 | \$600.00 | 13 | \$7,800.00 | \$1,600.00 | 13 |
| | 0104 6015 | General Sanitary Sewer Bid Items | | Remove Concrete (Sidewalks) (TXDOT Spec) | SY | \$61.11 | 40 | \$2,444.40 | \$10.00 | 40 | \$400.00 | \$10.00 | 40 | \$400.00 | \$30.00 | 40 |
| | 0531 6001 | General Sanitary Sewer Bid Items | | Concrete Sidewalks (4") (TXDOT Spec) | SY | \$72.22 | 40 | \$2,888.80 | \$13.00 | 40 | \$520.00 | \$68.00 | 40 | \$2,720.00 | \$100.00 | |
| | 0531 6008 | General Sanitary Sewer Bid Items | | Curb Ramps (TXDOT Spec) | EA | \$2,975.43 | 1 | \$2,975.43 | \$150.00 | 1 | \$150.00 | \$700.00 | 1 | \$700.00 | \$3,500.00 | 1 |
| 48 | 6001 | General Sanitary Sewer Bid Items | | Portable Changeable Message Sign (TXDOT Spec) | EA | \$101.59 | 35 | \$3,555.65 | \$90.00 | 35 | \$3,150.00 | \$400.00 | 35 | \$14,000.00 | \$180.00 | 35 |
| 49 | SS 3300 | General Sanitary Sewer Bid Items | | Licensed Plumber (Relay lateral in private property) | LF | \$200.00 | 80 | \$16,000.00 | \$65.00 | 80 | \$5,200.00 | \$125.00 | 80 | \$10,000.00 | \$30.00 | 80 |
| 50 | 100 | General Sanitary Sewer Bid Items | | MOBILIZATION AND DEMOBILIZATION, MAX 10% OF LINE ITEMS 1-49) | LS | \$45,000.00 | 1 | \$45,000.00 | \$90,500.00 | 1 | \$90,500.00 | \$40,000.00 | 1 | \$40,000.00 | \$53,000.00 | 1 |
| 51 | 101 | General Sanitary Sewer Bid Items | | PREPARING ROW, MAX 5% OF LINE (ITEMS 1-49) | LS | \$20,000.00 | 1 | \$20,000.00 | \$10,000.00 | 1 | \$10,000.00 | \$15,000.00 | 1 | \$15,000.00 | \$26,500.00 | |
| | | | | | Total | | | \$653,752.92 | | | \$1,009,624.60 | | | \$649,048.25 | | |
| Calenc | lar Days | To Complete : 180 | | As-Read | Total | | | \$653,756.28 | | | \$1,009,624.60 | | | \$649,048.25 | | |

| D GUERRA FION LLC | | _PRONTO 6 & COATING | | EXAS PRIDE S LLC | CO-00333 - | 7_FAC INC | ILITIES REHAB | CO-00333 - 8_CRUZ TEC INC | | | | |
|----------------------|-------------|------------------------|--------------|---------------------|------------|--------------|---------------|---------------------------|--------------|------------|-------|--------------|
| Total Amount | Unit Price | Qty | Total Amount | Unit Price | Qty | Total Amount | Unit Price | Qty | Total Amount | Unit Price | Qty | Total Amount |
| \$480.00 | \$3.00 | 32 | \$96.00 | \$10.00 | 32 | \$320.00 | \$10.00 | 32 | \$320.00 | \$4.75 | 32 | \$152.00 |
| \$1,300.00 | \$3.00 | 65 | \$195.00 | \$10.00 | 65 | \$650.00 | \$5.00 | 65 | \$325.00 | \$8.50 | 65 | \$552.50 |
| \$600.00 | \$10.00 | 40 | \$400.00 | \$20.00 | 40 | \$800.00 | \$20.00 | 40 | \$800.00 | \$20.00 | 40 | \$800.00 |
| \$27,880.00 | \$70.00 | 328 | \$22,960.00 | \$96.00 | 328 | \$31,488.00 | \$100.00 | 328 | \$32,800.00 | \$115.00 | 328 | \$37,720.00 |
| \$52,920.00 | \$21.00 | 1,323 | \$27,783.00 | \$54.00 | 1,323 | \$71,442.00 | \$30.00 | 1,323 | \$39,690.00 | \$47.00 | 1,323 | \$62,181.00 |
| \$18,598.00 | \$15.00 | 1,094 | \$16,410.00 | \$30.00 | 1,094 | \$32,820.00 | \$10.00 | 1,094 | \$10,940.00 | \$22.00 | 1,094 | \$24,068.00 |
| \$2,400.00 | \$180.00 | 16 | \$2,880.00 | \$180.00 | 16 | \$2,880.00 | \$200.00 | 16 | \$3,200.00 | \$165.00 | 16 | \$2,640.00 |
| \$1,920.00 | \$30.00 | 32 | \$960.00 | \$40.00 | 32 | \$1,280.00 | \$30.00 | 32 | \$960.00 | \$24.75 | 32 | \$792.00 |
| \$1,700.00 | \$90.00 | 17 | \$1,530.00 | \$100.00 | 17 | \$1,700.00 | \$90.00 | 17 | \$1,530.00 | \$125.00 | 17 | \$2,125.00 |
| \$2,000.00 | \$10,000.00 | 1 | \$10,000.00 | \$12,000.00 | 1 | \$12,000.00 | \$5,000.00 | 1 | \$5,000.00 | \$3,500.00 | 1 | \$3,500.00 |
| \$1,750.00 | \$10,000.00 | 1 | \$10,000.00 | \$12,000.00 | 1 | \$12,000.00 | \$5,000.00 | 1 | \$5,000.00 | \$3,500.00 | 1 | \$3,500.00 |
| \$1,500.00 | \$15,000.00 | 1 | \$15,000.00 | \$8,000.00 | 1 | \$8,000.00 | \$2,000.00 | 1 | \$2,000.00 | \$3,500.00 | 1 | \$3,500.00 |
| \$1,000.00 | \$10,000.00 | 1 | \$10,000.00 | \$8,000.00 | 1 | \$8,000.00 | \$2,000.00 | 1 | \$2,000.00 | \$3,500.00 | 1 | \$3,500.00 |
| \$3,000.00 | \$15,000.00 | 1 | \$15,000.00 | \$14,000.00 | 1 | \$14,000.00 | \$2,000.00 | 1 | \$2,000.00 | \$3,500.00 | 1 | \$3,500.00 |
| \$2,000.00 | \$10,000.00 | 1 | \$10,000.00 | \$12,000.00 | 1 | \$12,000.00 | \$2,000.00 | 1 | \$2,000.00 | \$3,500.00 | 1 | \$3,500.00 |
| \$2,120.00 | \$5.00 | 212 | \$1,060.00 | \$24.00 | 212 | \$5,088.00 | \$5.00 | 212 | \$1,060.00 | \$5.00 | 212 | \$1,060.00 |
| \$180.00 | \$5.00 | 12 | \$60.00 | \$24.00 | 12 | \$288.00 | \$5.00 | 12 | \$60.00 | \$4.75 | 12 | \$57.00 |
| \$1,700.00 | \$25.00 | 68 | \$1,700.00 | \$45.00 | 68 | \$3,060.00 | \$20.00 | 68 | \$1,360.00 | \$27.00 | 68 | \$1,836.00 |
| \$11,895.00 | \$7.00 | 793 | \$5,551.00 | \$20.00 | 793 | \$15,860.00 | \$1.00 | 793 | \$793.00 | \$9.75 | 793 | \$7,731.75 |
| \$58,050.00 | \$90.00 | 774 | \$69,660.00 | \$88.00 | 774 | \$68,112.00 | \$125.00 | 774 | \$96,750.00 | \$79.00 | 774 | \$61,146.00 |
| \$3,550.00 | \$100.00 | 10 | \$1,000.00 | \$100.00 | 10 | \$1,000.00 | \$300.00 | 10 | \$3,000.00 | \$110.00 | 10 | \$1,100.00 |
| \$6,000.00 | \$1,500.00 | 2 | \$3,000.00 | \$2,600.00 | 2 | \$5,200.00 | \$2,500.00 | 2 | \$5,000.00 | \$2,700.00 | 2 | \$5,400.00 |

| GUERRA ON LLC | | _PRONTO & COATING | | 3 - 6_T TILITIE: | EXAS PRIDE S LLC | CO-00333 - | 7_FAC INC | ILITIES REHAB | CO-00333 - 8_CRUZ TEC INC | | | |
|------------------|-------------|----------------------|--------------|---------------------|---------------------|--------------|--------------|---------------|---------------------------|-------------|-------|--------------|
| Total Amount | Unit Price | Qty | Total Amount | Unit Price | Qty | Total Amount | Unit Price | Qty | Total Amount | Unit Price | Qty | Total Amount |
| \$9,500.00 | \$10,000.00 | 1 | \$10,000.00 | \$8,000.00 | 1 | \$8,000.00 | \$8,000.00 | 1 | \$8,000.00 | \$9,500.00 | 1 | \$9,500.0 |
| \$26,000.00 | \$8,500.00 | 4 | \$34,000.00 | \$6,000.00 | 4 | \$24,000.00 | \$6,000.00 | 4 | \$24,000.00 | \$9,500.00 | 4 | \$38,000.0 |
| \$4,200.00 | \$350.00 | 6 | \$2,100.00 | \$400.00 | 6 | \$2,400.00 | \$300.00 | 6 | \$1,800.00 | \$550.00 | 6 | \$3,300.0 |
| \$13,110.00 | \$100.00 | 138 | \$13,800.00 | \$80.00 | 138 | \$11,040.00 | \$80.00 | 138 | \$11,040.00 | \$54.00 | 138 | \$7,452.0 |
| \$9,210.00 | \$1,200.00 | 6 | \$7,200.00 | \$1,200.00 | 6 | \$7,200.00 | \$600.00 | 6 | \$3,600.00 | \$1,350.00 | 6 | \$8,100.0 |
| \$3,150.00 | \$180.00 | 9 | \$1,620.00 | \$400.00 | 9 | \$3,600.00 | \$300.00 | 9 | \$2,700.00 | \$110.00 | 9 | \$990.0 |
| \$13,500.00 | \$10,000.00 | 1 | \$10,000.00 | \$8,000.00 | 1 | \$8,000.00 | \$2,000.00 | 1 | \$2,000.00 | \$8,500.00 | 1 | \$8,500.0 |
| \$12,500.00 | \$15,000.00 | 1 | \$15,000.00 | \$12,000.00 | 1 | \$12,000.00 | \$3,000.00 | 1 | \$3,000.00 | \$12,500.00 | 1 | \$12,500.0 |
| \$11,500.00 | \$10,000.00 | 1 | \$10,000.00 | \$8,000.00 | 1 | \$8,000.00 | \$2,000.00 | 1 | \$2,000.00 | \$14,500.00 | 1 | \$14,500.0 |
| \$11,500.00 | \$10,000.00 | 1 | \$10,000.00 | \$10,000.00 | 1 | \$10,000.00 | \$6,000.00 | 1 | \$6,000.00 | \$11,500.00 | 1 | \$11,500.0 |
| \$23,000.00 | \$30,000.00 | 1 | \$30,000.00 | \$8,000.00 | 1 | \$8,000.00 | \$14,000.00 | 1 | \$14,000.00 | \$4,500.00 | 1 | \$4,500.0 |
| \$10,500.00 | \$10,000.00 | 1 | \$10,000.00 | \$8,000.00 | 1 | \$8,000.00 | \$3,000.00 | 1 | \$3,000.00 | \$11,500.00 | 1 | \$11,500.0 |
| \$12,850.50 | \$5.00 | 1,977 | \$9,885.00 | \$10.00 | 1,977 | \$19,770.00 | \$5.00 | 1,977 | \$9,885.00 | \$3.85 | 1,977 | \$7,611.4 |
| \$3,920.00 | \$3.00 | 784 | \$2,352.00 | \$8.00 | 784 | \$6,272.00 | \$3.00 | 784 | \$2,352.00 | \$3.85 | 784 | \$3,018.4 |
| \$34,850.00 | \$90.00 | 410 | \$36,900.00 | \$62.00 | 410 | \$25,420.00 | \$80.00 | 410 | \$32,800.00 | \$52.00 | 410 | \$21,320.0 |
| \$17,170.00 | \$95.00 | 202 | \$19,190.00 | \$68.00 | 202 | \$13,736.00 | \$80.00 | 202 | \$16,160.00 | \$55.50 | 202 | \$11,211.0 |
| \$55,195.00 | \$100.00 | 581 | \$58,100.00 | \$70.00 | 581 | \$40,670.00 | \$100.00 | 581 | \$58,100.00 | \$57.00 | 581 | \$33,117.0 |
| \$23,400.00 | \$700.00 | 36 | \$25,200.00 | \$450.00 | 36 | \$16,200.00 | \$300.00 | 36 | \$10,800.00 | \$350.00 | 36 | \$12,600.0 |
| \$6,000.00 | \$3,000.00 | 1 | \$3,000.00 | \$2,000.00 | 1 | \$2,000.00 | \$8,000.00 | 1 | \$8,000.00 | \$2,200.00 | 1 | \$2,200.0 |
| \$1,300.00 | \$120.00 | 5 | \$600.00 | \$100.00 | 5 | \$500.00 | \$200.00 | 5 | \$1,000.00 | \$200.00 | 5 | \$1,000.0 |
| \$650.00 | \$1,000.00 | 1 | \$1,000.00 | \$400.00 | 1 | \$400.00 | \$1,500.00 | 1 | \$1,500.00 | \$500.00 | 1 | \$500.0 |
| \$20,800.00 | \$900.00 | 13 | \$11,700.00 | \$1,200.00 | 13 | \$15,600.00 | \$2,500.00 | 13 | \$32,500.00 | \$450.00 | 13 | \$5,850.0 |
| \$1,200.00 | \$18.00 | 40 | \$720.00 | \$100.00 | 40 | \$4,000.00 | \$5.00 | 40 | \$200.00 | \$8.50 | 40 | \$340.0 |
| \$4,000.00 | \$70.00 | 40 | \$2,800.00 | \$100.00 | 40 | \$4,000.00 | \$90.00 | 40 | \$3,600.00 | \$125.00 | 40 | \$5,000.0 |
| \$3,500.00 | \$1,200.00 | 1 | \$1,200.00 | \$1,000.00 | 1 | \$1,000.00 | \$2,500.00 | 1 | \$2,500.00 | \$3,750.00 | 1 | \$3,750.0 |
| \$6,300.00 | \$900.00 | 35 | \$31,500.00 | \$200.00 | 35 | \$7,000.00 | \$200.00 | 35 | \$7,000.00 | \$81.00 | 35 | \$2,835.0 |
| \$2,400.00 | \$120.00 | 80 | \$9,600.00 | \$100.00 | 80 | \$8,000.00 | \$200.00 | 80 | \$16,000.00 | \$42.00 | 80 | \$3,360.0 |
| \$53,000.00 | \$55,000.00 | 1 | \$55,000.00 | \$35,000.00 | 1 | \$35,000.00 | \$50,000.00 | 1 | \$50,000.00 | \$47,241.61 | 1 | \$47,241.6 |
| \$26,500.00 | \$22,000.00 | 1 | \$22,000.00 | \$10,000.00 | 1 | \$10,000.00 | \$25,000.00 | 1 | \$25,000.00 | \$23,620.81 | 1 | \$23,620.8 |
| \$623,248.50 | | | \$669,712.00 | | | \$627,796.00 | | | \$575,125.00 | | | \$545,278.5 |
| \$623,248.50 | | | \$669,712.00 | | | \$627,796.00 | | | \$575,125.00 | | | \$543,278.5 |